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Note:

ﬁ'é?T :

The question paper is divided into three sections A, B and
C. Write answers as per the given instructions.

Ig U9 ‘31, ‘¥ @R ‘@’ o wuel ® fgwiiia g1 ve
Gug & MEATTAR Ul T IR ST

Section - A 10 X2=20
(Very Short Answer Questions)

Answer all questions. As per the nature of the question
delimit your answer in one word, one sentence or
maximum upto 30 words. Each question carries 2 marks.

gus - ‘37

(3fer ofg IR TeT)

Tt UeAl & ITR QMY 3T 30 IR DI FEATTAR T
91eg, T a1ag T 3ffeasad 30 areql § gRAfia S| ne
b9 2 3P AT g
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1) (i) What do you mean by business environment?

TR TRl W 37T T FH & 2

(i) What is monetary policy?
Hifge i a7 g2

(iif) What are the various tools of fiscal policy?

ST el & T aioTR iF & 2872

(iv) What do you mean by economic planning?

anfefer S A MBI T 3T g 2

(v) Explain the goals of 11™ five year plan.

TRA P IR GTasig AT b A&l Dl AHATIU|

(vi) Define inflation?

e TR @ afefya Hifl

(vii) What is privatization?

TTepeoT T B2

(viii) What do you mean by F.1.1.7
Th, 3T, TS, A 3T FAT 3 g ?
(ix) What do you mean by industrial policy?

Jitenfies i I MUt FIT AT B 2

(x) What is EXIM policy?
frafa—amara fifcr g2
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Section - B 4 X10=40
(Short Answer Questions)

Note: Answer any four questions. Each answer should not

exceed 200 words. Each question carries 10 marks.

(Tvs - 9)
(oTg IR Ue)

fAder: gl IR U9l & IR STl 3T U IR T 37ferhad

200 91t 7 gRHIfg HITTl g U997 10 3id o1 Bl

Explain the significance of study of Business Environment.

TATRIG TR b JETIT T AT Dl A |

Discuss the instruments used by a Government for proper
implementation of monetary policy.

WHR & gRT HAtfeep AT & agfaa fharard & o)l =Ry
TSl JTEH] Pl TSI |

State the recent changes introduced in the industrial policy of
1991.
aifenfie Hifer, 1991 # 5 T sy uRecHi ol FHsIS|

Discuss the main achievements of Xl five year plan.

Red! doasia T 6 I IRl B aHegY |

Write main characteristics of latest EXIM policy of India.

AR DT I FRIfd—smard i & g fervan ke
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Explain achievements and failures of economic planning in
India.
IRA § aMfdfep R dl Suctfedril Td rIhatdiall &l Fse
R |

Discuss the state of unemployment in India and also give your
suggestions for solving the problem of unemployment in India.

TR H SRISFIRT &) fRUAT TR UreT Sifer) dom SRISRT 6 39
AT & gl & fAY 3o gerra iR

Write the causes of price rising in India. Suggest measures to
control price rising.

IRA § dHa-gfg & dRur faRed| dma gfg o Faf=a oA
&b U G|

Section-C 2%xX20=40
(Long Answer Questions)

Note: Answer any two questions. You have to delimit your each

answer maximum upto 500 words. Each question carries
20 marks.

(Tvs - ¥)
(Sref ST ¥9d)

fAder : fregl QY Ul & IR SITUI 3TUh! 30 TR Dl 3fehad

500 9lsci & GRAIT BT g1 TAD U 20 37hT ol 2l

10) Putalightonthevariouscomponentsof Business Environments.

Also explain the elements of external environment of business.

ARG GIfaR & fAfte gehl W) Ua1e Siferd| eI &
IT&T qAfaRur & aal @7 o guia SR
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11) What do you mean by industrial sickness? Explain the various
causes of industrial sickness in India.

SNl U I 3T =T FHSI & ? WRT H 3itefie AT &
fafdrer Rl @1 guie HIRR

12) Write short notes on following:
(i) Objectives of privatisation
(ii) Disequilibrium in Balance of Payment
fr=feRaa w Gfem feoaforr faRe:
(i) froaor & Sged
(i) I Ao § ST
13) Write an essay on “Foreign Direct Investment in India”.

“qRd 1 g faeelt e’ favy R o foilkay|

BC-06 /600 /5 (5)



